

















M 010

,€8vl

Pos.  Dilec ¢. Nazev Pos.  Dilec ¢. Nazev
Det. Part No. Denomination Det. Part No. Denomination

...... $980 000010. QSVETLENI' .. LIGHTING

1. S080 120217. ... SROUB M4 x ... SCREW M4 x 6

2. S311 400026 .  VRUT .. SCREW

3. S080 120332. .. SROUB M4 x4 ............. ... SCREW M4 x 4

5. $345 012000 . ... KABEL. PRICHYTKA KPNC .. CABLE CLIP

7 S080 839332. ... DRZAK SVETLA .......cccco. ... HOLDER OF LIGHT

8. S080 190359. ... PODLOZKA ....... .. WASHER

9. S080 120259. .. SROUB M5 X 8 .....cccouuisunn ... SCREW M5 x 8

10...... $980 094025 . ... TRANSFORMATOR OSVETLENI .. .. TRANSFORMER OF LIGHTING

15...... $981 090091 . e SVETLO oo .. LIGHT

20...... S080 120245 . ... SROUB M3 x 6 ... SCREW M3 x 6

21 ... S080 120339. .. SROUB M2 x 3 ... ... SCREW M2 x 3

22...... S080 120363 . ... SROUB M2 x 10 .. ... SCREW M2 x 10

23 ... S080 126065 . ... SROUB M3 x 6 ... SCREW M3 x 6

24 ... S080 161201 . ... MATICE ......... .. NUT

25 e .. VIZ POS. 15.. .. SEE 15

26 ... .. VIZ POS. 15.. .. SEE 15

27 ... .. VIZ POS. 15.. .. SEE 15

28 e .. VIZ POS. 15...... .. SEE 15

29...... §321 952448 . ... KRYT OSVETLENI ... ... COVER OF LIGHTING

32..... S$347 064415. ... ZAROVKA 12V/10W .. BULB 12V/10W

33..... S632 953285 ..o KRYCI SKLO ..o COVER GLASS

3D et VIZ POS, 15 ..o SEE 15

36...... §980 094016 . ... DRZAK ZAROVKY ... HOLDER OF BULB

37..... S080 190369. ... PODLOZKA ... .. WASHER

38.... S080 815304 PODLOZKA WASHER

From the library or. superior

Sewing Machine & Supply LLT




Z 012

From the library of. Superior Sewing Machine & Supply LLC



8¢ avl

2012

Pos.  Dilec ¢. Nazev Pos.  Dilec ¢. Nazev
Det. Part No. Denomination Det. Part No. Denomination
...... S794 222012 .. QSVETLENI’ HALOGEN ..... ..... LIGHTING HALOGEN
1. S080 120692 .. e SROUB .o SCREW
2. S080 190346 .. .. PODLOZKA ..................... s WASHER
3 0798 500088 ... ... TRANSFORMATOR OSVETLENI ............ TRANSFORMER OF LIGHTING
4. 0907 487519 ... «. SADA DILCU ...cevvcrcicncciccs SET OF PARTS
5. 9822 510001 OSVETLENI «.oovveeeeeee e LIGHT

From the library or. superior

Sewing Machine & Supply LLT




M 334

From the library of. Superior Sewing Machine & Supply LLC




6Eavl

M 334

Pos.  Dilec ¢. Nazev Pos.  Dilec &. Nazev
Det. __Part No. Denomination Det. __Part No. Denomination
...... $980 000334 ......oooverrrvrvvvverrsssererrerssvserssss VODIG DILA ooooooveeeeeeeeevvvnene.. SEWN WORK GUIDE

From the Tibrary of. Superior

Sewing Machine & Supply LLT




M 082

M 083

M 242

M 520

From the library of: Superior Sewing Machine & Supply LLC




0'avl

Pos

. Dilec¢.

Nazev Pos.  Dilec €. Nazev
Det. Part No. Denomination Det. Part No. Denomination
1 ... S080 870240 ..o NUZ OREZU ..o KNIFE
25080 870244 ..o NUZ OREZU ..o KNIFE
B e JEHLA 134-35 LR/130 ...oooovveeerveenne. NEEDLE 134-35 LR/130
Ao JEHLA 134-35 LR/100 ....cooeeeeereeeeenne. NEEDLE 134-35 LR/100

PARTS FOR MACHINE WITHOUT
.. TRIMMING
.. COVER
SCREW

From the library or. superior

Sewing Machine & Supply LLT




M 341

M 173

M 175

ul

M 311

From the library of: Superior Sewing Machine & Supply LLC




M341 M173 M175 M 311

| #AVL

Pos.  Dilec ¢. Nazev Pos.  Dilec ¢. Nazev
Det. Part No. Denomination Det. Part No. Denomination
...... $980 000341 DRZAK KOLECKOVE PATKY ............... HOLDER FOR THE TOP ROLLER
| I ... VIZ S980 000341 ............... .. VIZ $980 000341
2 e ... VIZ $980 000341 .. VIZ §980 000341
3. S080 555046 . ... PASTOREK.... .. PINION
4. S080 410678 . ... POUZDRO....... .. CASE
5. $311 733151. .. POJ.KROUZEK. . .. RETAINING RING
6. S080 111212. ... SROUB .............. .. SCREW
T oo ... VIZ §980 000157 .. VIZ S980 000157
8. S080 190353 . .. PODLOZKA......... .. WASHER
9. S080 120226 . .. SROUB ...... .. SCREW
10...... S080 132240 SROUB ..ot SCREW
M 173 . )
...... §980 000173 ......cccccevcvevrervcsrcreriicsneeenn.. KOLECKOVA PATKA L..........oceeveevenee.. TOP ROLLER
1. S080 452057 ..o DRZAK ..o HOLDER
2. S080 561059 ..o KOLECKO @ 35 MM ...coocviricinns TOP ROLLER
3. §$324 020052 . .. BALL
4. S080 441679. .. SCREW
5. S080 111303 SCREW
M 175 ; ’
...... $980 000175 KOLECKOVA PATKA TOP ROLLER
1. S080 452051 . e DRZAK .. HOLDER
2 S980 088007 . .. KOLECKO POGUMOVANE @ 35 mm .... TOP ROLLER RUBBER COATED
3. §324 020052 . .. BALL
4. S080 441679. .. SCREW
5. S080 111303 SCREW
M 311 . )
...... $980 000311. ... KOLECKOVA PATKA ... ... TOP ROLLER
1. S080 452051 . e DRZAK .. .. HOLDER
2. S080 561070 . ... KOLECKO HLADKE @ 35 mm .. TOP ROLLER SMOOTH
3. $324 020052 . o KULICKA ..o .. BALL
4. S080 441679. .. SROUB ...... .. SCREW
5. S080 111303 SROUB ..ot SCREW

From the library or. superior

Sewing Machine & Supply LLT






